VAVILLARTEC Mopens arperata: MB 4051T (F'a30HOKOCHIKA)

fi‘.’;;‘" ) E_ 2
QOLP
@ ®




VILLARTEC

Mopenb arperaTta: MB 4051T (FaszoHokocuska)

CHHCOK 3alacHBIX YacTen

Ne I1o3. | ApTHKYJ 1€ Taau HaumMeHOBaHue KoJ-Bo
1 2105300159A  |bounr kperienust Hoxka 40 MM 1
2 2105300001C  [[ITaitba kperuieHus HOXa 1
3 21052003362000A |Hox 510 mm 1
4 2105300155A  |Dnaner HOXxa 1
5 2103900034A  |Imonka 3,8x16 1
6 3022305001 Buntr M6x8 1
7 21031003390082A | PemenHO# IKKB 1
8 2102600016A  |Pemenpb knuHOBOI 813 MM 1
9 3011301006  [Camope3 ST5x16 6
10 3031309002  [T"atika M8 4
11 3051303001 [ITaii60a 6
12 {21041002600001N [3anmrHast Kpblilika peMHs 1
13 21011000570155D |Konmak niepeaHero koieca 2
14 30323060035000 |CrtonopHast raiika M8 11
15 2101300065A  |I[TommmrmHMK 8
16 [21011000270001A [Koneco nepennee 2
17 A26800706202 |Iait6a 12x18x0,5 4
18 3021302003  |Buntr M6x12 8
19 2101200011B  [/lepxaTeb KOJECHOM OCH NEpeIHEN 2

20 2101500039E  |Ochb konecHas iepessis 1
21 21011000290001A | lep:kaTelib KOJIECHOM OCH MepeIHEN 2
22 |21011000550155N |Konmak 3a/iHero koneca 2
23 21011002410001A |Koneco 3annee 2
24 2101100368A  [bonr 2
25 3011301010  |Camope3 ST4x16 14
26 | 21011000600001D |I1bne3amura Ha 3a/HEE KOJIECO 2
27 30313090035000 |Konrpraiika M6 2
28 2106200097D  |Hdyra 1
29 2109800028N  [[TpyxwuHa 1
30 A26809003801 |bont 1,5x31,5 1
31 21092000295007B [1ait6a 16x8x0,8 3
32 [21035000550353C |Kopityc ra30HOKOCHIKH 1
33 30323060015000 |Konrpraiika M6 6
34 121061002053201A [3y6uaTast oiacTuHa 1
35 30213020045000 (Bunatr M6x16 2
36 2106200128A  |/lepxaTeib KOJIECHOM OCH 3aJHE 2
37 2103200233A | BaokupoBOYHBIM 3aMOK 1
38 2103800011A  |IIpyxuHa OJIOKMPOBOYHOTO 3aMKa 1
39 2103300040A ([ tudt 1




VILLAR TEQC Moaens arperata: MB 4051T (FasoHokocuinka)

40 3043301003  [CromnopHoe KoibIo 1
41 2103200228A  |[TmacTuHa OJIOKUPOBOUHOTO 3aMKa 1
42 3052301004  [IIIaii0a 2
43 3021302002  |Bunr M5x10 2
44 2106200053N  |Ban 60x0BoIf maHeam 1
45 2109800066D | TopcuoHHasi mpy>KUHA 1
46  |21061000900001N |Kppika 60KOBOW MaHEIH 1
47 21041001110001C |3anmrHas Kpbllka 0OKOBOW MaHEJH 1
48 3043301001 CToropHOe KOJIbII0 4
49 2104400013E |IllecTepenka mpuBoja Kojeca JieBas 1
50 A26800705102 [IIlaiiba 20x12,8x0,8 2
51 A26800402302 [ITogmmmank R8-2RS 12,7x28,5x7 2
52 2102400152A  (IlogmmmHukoBas BTysKa 28,6 2
53 A26809000102 [ITudr 5x24.5 2
54 2102300210A (Kopobxka mepenad B cOope 1
55 2104400014E |IIlecTepenka npuBoja KoJjieca mpaBast 1
56 30913050015000 |Boar M6x12 2
57 2102200040A  |ITo3uimonupyrolias riacTuHa 1
58 121041001160001A [baokupoBoYHas IWIACTHUHA 1
59 2109800022C  (Brynka 8x0,9x31 1
60 |21041001150353A [KHonka KpbIIIKY 1151 K3MEJbYE€HUS TPaBbl 1
61 21061006910001A | KHOnKa KpbIIIKKU 7151 U3MEJIbYEHUSI TPABbI 1
62 A26800203001A |Bunr M6x14 1
63 2101500138A  |Ocsp konecHast 3a1Hss 1
64 3043301002  [CromnopHoe KOibIo 2
65 2109200020A  |Ilai6a 35x22,5x1,5 1
66 2106300079A  [PykosiTKa peryaupoBKH BbICOTHI CKaIlIMBAHUS 1
67 |21021000010001A [HabannamHuk pyKosiTKa peryJMpoOBKY BHICOTHI CKAIMBAHUS 1
68 30913070165000 |Bbonr M8x16 4
69 [21062009170353B [KpoHIITEH PyKOSITKA PABBII 1
70 2109800050A  |IIpy»uHa 3aHEH naHeIn 1
71 2106300025C  [Ocpb 3amHei nanenn 1
72 2109900030B  |3axxum 0.4 4
73 21062009140353B | KpoHiuTeiiH pyKoaTKH JI€BOM 1
74 2103300027A  |bont aByx ctoponHuii M8x17x40 1
75 2109300055A  |bont nByx ctoponHuit M8x17x25,8x8 1
76 3091304007  [bont M8x30 1
77 2103300032A  |IIlaii6a 8 3
78 60400114401 |Buraremns B coope 4,0KW/6,0HP,173CC 1
79 3033302001 Konmavok raitku M8 4
80 3052301002  [IIlaii0a 4
81 30913090015000 |boar M8x16 4
82  [21063001720001A [HwkHsst yacTh BeAyLIEH PYUKH 1
83 21061000013201A |Hanpasinstonias Tpoca 2




VILLAR TEQC Moaens arperata: MB 4051T (FasoHokocuinka)

84 |21093000635007A [IItudpr 5x20 2
85 121061000570353B |3akumHOI pplyar 2
86 21062000015007A |3akumHas geTalib 2
87 121063000085007A |bontr M8x65 2
88 2106600013A  |depxaTesb Tpoca 1
89 3091307003  [bont M6x35 2
90 |21063000025007A [Kprouok 1
91 3051303003  [IIlaii0a 3
92 3052301003  |IIlait6a 1
93 A26800501603A |Konrpraiika M6x13 3
94 2106800850A | Tpoc 1065 1
95 21061000043201A [Hanpapisitonast Tpoca 2
96 2106800853A  [Tpoc rasza 1
97 2106800385B  |Pyuka akcenepatopa 1
98 30913070135000 |Bonr M6x55 1
99  121061001113201N |[aiiba 2
100 |21061007140001A |Onopa pysieBoii Tru 2
101 [21061007150001A | lepxaTens Tpoca 4
102 |21061007290001A |KppIiika KpoHIITEHHA 2
103 [ 21063004360001A |Benymas pyuka Bepx 1
104 A26800203301 |Bunr M4x8 4
105 |21062012120353A |PykosiTKka BKIFOUEHNS IBIKEHUS 1
106 |21062012130353A |PykosiTka BKIIOUEHHS 1
107 2106100313A | TpyOxa pykositku Msirkast 21x31x500 1
108 |21041000730353N |3aansist naHeb 1
109 2107200018D [Kapkac TpaBocOopHuKa 1
110 |21077000262266B |Kop3nna TpaBocOOpHHIKa 1
111 2012200002A  [Topuesoit kimoy 21 1
112 2012100004A  |Ppruar topreBoro kmoda 8x110 1




